2021EE BEAEVZ7IILTEFIE E3HRX FTEBEH
BEA Y —BEE

20216 A11H®) (6380y P72)
y

B K A B TOTAL oUT IN APEETEm B £ = TOTAL OUT IN “PHE1am m 4 R TOTAL OUT IN
1 5K 5 EmEEHIR 72 36 36 O | 42 HE)N HE— AEEER 82 43 39 78 WX BE KEE 86 40 46
2 FH Ef# FEF 74 38 36 O | 42 HEF BRXR lLHDE 82 40 42 78 i R—H PGM;t1 86 44 42
3 =W fER EPN 75 36 39 O | 42 H&t ER3 KERF 82 41 M 87 =¥ HIE 55 87 44 43
4 EE EX 7N 76 37 39 O | 42 —H FH i 82 38 44 87 JIF Hz 424 87 44 43
4 BEXK F¥H F—kLAY 76 41 35 O | 42 Bl EF— F—kLAY 82 39 43 87 #N A == 87 46 4
4 AR EBE— Rz— 76 38 38 O | 42 WFT HRHF HER 82 42 40 87 K#F &£ BE 87 41 46
4 fRE T KERF 76 38 38 O | 49 BE E*x 5t 83 43 40 87 A EH 324 87 44 43
8 HhE &7 VA3 77 36 41 O | 49 O & 7—hkLa% 83 42 41 87 A =B ¥R )IEE 87 48 39
8 /Y BT BE 77 36 41 O | 49 ¥E FE RE 83 42 M 87 HO EB=xn o) 87 43 44
8 BAR XX BE 77 38 39 O | 49 ¥ @ EE 83 42 M 87 Hig BE HE 87 42 45
1 1RE BF RFEERHIR 78 38 40 O | 49 7 [P&EEh RFEEEHIR 83 42 41 87 EHE #= FEITyS 81 43 44
11 EfE H8 =1 78 41 37 O | 54 WK R £H3Y 84 40 44 87 ¥EH Ak RE 87 43 44
11 AH #xX F—kLAY 78 38 40 O | 54 FEL H—ER HE 84 42 42 97 #% (EZ PGM;th 88 46 42
11 f2H IE#: HEF 78 38 40 O | 54 @AAX &= B 84 44 40 97 JIIR & FEFOEEL 88 47 4
11 @l & EE 78 39 39 O | 54 HT EH—ER HEE 84 41 43 97 AR E# EE 88 46 42
11 NI RaEh FE 78 40 38 O |54 HE =K FIF 84 43 M 97 W& AX Rz— 88 43 45
11 #I EX HER 78 37 41 O | 54 BAE XHit RE 84 43 41 97 #H EFR 0] 88 44 44
18 =& BEA T—kLAY 79 40 39 54 FHEH Eik AESE 84 42 42 97 BE EHE 0] 88 45 43
18 RE & F—kLAY 79 40 39 54 #/F RE &&#5Y 84 43 M 103 E@ #E= 152 90 48 42
18 /MR HR FIRFHEEL 79 41 38 54 Jblh =iF 84 44 40 103 thEH HE =)= 90 44 46
18 EIll I RE 79 41 38 54 A E mE 84 45 39 103 HHE X )| = 90 46 44
18 fEK &z iR 79 39 40 54 R E= BEZ: 84 42 42 103 & K& Heh 90 43 47
18 AR iE— BEREER 79 40 39 54 % BEif =I5 84 41 43 103 5H =B Vit N2 7 90 44 46
18 JIlE E& LR )IEE 79 42 37 O | 66 TR SFE RE 85 43 42 108 BN HF PGM;t E 91 46 45
25 FE ER F—kLAY 80 41 39 66 £ %= MESSUREIL 85 43 42 108 HIl H&E HEIF 91 49 42
25 Fil oF RE 80 39 41 66 JIlO =& 55 85 47 38 110 HFAX —& E#H3Y 92 48 44
25 HHE REL HEF 80 39 41 66 K#Fx IR N 85 44 41 111 fE8 Bh AEEER 93 47 46
25 BB =ik MESSURE)L 80 40 40 66 EHE [F— F—kL4aY 85 43 42 112 W RER BE 94 46 48
25 & =5 F#H#SY 80 39 41 66 /R =t AEER 85 41 44 112 h% B2 RE 94 43 51
25 A 3§k F—kLAY 80 36 44 66 fEH —E 42 85 43 42 114 @A EBF &#H3Y 95 51 44
31 EE F ¥=y-3 81 40 41 66 EA JHZ 7—hLa% 85 43 42 115 3[E %4 XEIF 100 48 52
31 RH#E EX AEER 81 40 41 66 TEER I RE 85 45 40 REBPE £H PGM;t E

31 HRK =B TEEREER 81 40 41 66 HME tHE TEERER 85 39 46 RFE B BX TEEREIR

31 BEME T EFE 81 42 39 66 ME T‘Z ay: 85 42 43 RE BH & BE

31 KFE SER R=— 81 45 36 66 Rt HE 5 85 43 42 RE ®fE Rtk PGMith

31 FE —H HER 81 42 39 78 AR ik KEF 86 43 43 RE WA A 8

31 /A Eih ih= 81 43 38 78 &R FRIE mE 86 43 43 RE R — 5

31 @BE IE EiPNT 81 39 42 78 HEH A—BEd} AEE 86 40 46 RE FIH BB BE

31 INF BEX AEESE 81 43 38 78 BEE T B 86 44 42

3 BN EE RE 81 40 41 78 ®¥E IE BAR)IER 86 40 46

31 RE B F—kL4aH 81 41 40 18 RE EH EFE 86 44 42

42 MK B— 4t 82 42 40 78 A& 1EBA T—kLAY 86 44 42




